BEEHRFATER( %4 ££3 A1 B)
1 T UK FEVEPE BT & — S AT ZE T

1. SRR

A4 43 H WA EE D FE

MEAES HE o #%=

( PAEHE) ( WEHE3 HBLHME)
KoOR KE 8.3 — 0.9 — 1.7
( C) (9.2) (10.0)
JECJE 8.0 — 1.2 — 1.9
(9.2) (9.9)
oy FiE 32.92 — 0.01 + 0.63
( PSU (32.93) (32.29)
JEC J 33. 16 + 0.08 + 0.84
(33.08) (32.32)
% 5.4 + 0.9 + 2.1
(m) (4.5) (3.3)
¥ OBIME . L 2 EAOEHEE EL TOET,
SR - BE3 0 A4y (19918~20204F) D[R A EHfEAE KL TWOE T,
2. W W
( 1) 7k(m1

s REITORED . RN RO TL 72,

(2) X557
- FE, JKEL b SEEWRALTL 72,

(3) B L
« BIHEIIRCREmD TL 72,



RERRTI)

(1) k8
FEHACROHE EEBACRD
a5 a5
30 ERANE —e—ERANE
/&\,\. T ohim = o TR
25 /Er' -~ _D\. o5 /i!t—'—‘ﬂ-—
5 20 A - 520 /g/ a\'
T ‘/Er/ E\ u15 .,/E/! B\
10 ° K‘ — - 10 o ‘\
5 5
o R 0 e
NP S SR S S \g“?’ \6?* \q?‘ R N PR SN S S \QQ \3- \,5* Rl sl
(2] 1Eo
FEESOHE EBESOHE
24 o
a3 s o~ R
i = a3 — s ~—
a2 .//% — p— == /_H ) -/ \L’E’f\ E’/E/f
—=——&r
_.a ._.u\'"'E‘. //./ =31 ¢ - \‘..-—-—4‘
é 20 = \ £a0
25 ¥ —o—BRAIE || 2 —e—ERiEIE ||
28 —=—FHF(E [ 28 —=—FFE -
o7 27 C
NS G SN A S \Q% \\% \,.3‘ Rl s e NN S S S S \Q@ \\% \L{?’ N s o

(3) EERE

] BUEOHR
. A N
» il . E‘____.-__E,...- ""'-m\\ \;"J" .E. E// ~g
£ 3
2 —e—ERAIE —
; —a—FEE
¢]

ISP IRN PN RS SN RIS ENOMENG SN

3. FOM
« AbEE RO FEEGRAE SO R E E 5 m EO WK I RREME H
777 N EERS NEEATL 2,
s AEXIBNTTIRIIC L D RO AT AR LEHATL 72,



3A1H
#*FE(0.5m)

(Ai:27.9)

LLifs/NEF R

BT EE

JEE (B-1m)

LS/ NEF R

3A1H
FE(0.5m)

LLiFS/NEF ER T

2t EE
(B#5:27.9)

3A1H

B

\Lips/NEFER T

JEE (B-1m)

LLIFS/NEF B T

2Eh FE

(A#R:279)




